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SN AEBY
HME: AWAYS 02| HE
Chel: A JIBHAIS BE (ol He
SN B S(SA) - HRAY - BES 0l & 24 plE-T" HlmE2
o= AHE 2} 25,369,614 24,241,514 1,128,100
2 2,566,000 2,541,000 25,000
Xl 15,129,000 15,129,000 0
< 7,674,614 6,571,514 1,103, 100
A ofAI|E BHE 25,311,814 24,183,714 1,128,100
2 2,566,000 2,541,000 25,000
Xl 15,129,000 15,129,000 0
= 7,616,814 6,513,714 1,103,100
MO OIBHAIE BB 9,413,614 8,748,614 665,000
= 1,029,000 1,029,000 0
Xl 4,953,000 4,953,000 0
= 3,431,614 2,766,614 665,000
Neoler S22 587,800 514,000 73,800
401 Al EHI YL 2 CHYI 517,800 444,000 73,800
01 A&l 514,200 441,000 73,200
OXNYNE 242 514,200 441,000 73,200
03 Al& = CHY| 3,600 3,000 600
oxgns B2 3,600 3,000 600
HEZFFOHENL 611,000 590,000 21,000
403 XX S S X201 & 611,000 590,000 21,000
01 IXISHHIR =S X 611,000 590,000 21,000
OOIBHLY 2t 21,000 21,000
HIY0 M5 X 400,000 0 400,000
403 XXM S X201 & 400,000 0 400,000
01 AXSHMA2E R 400,000 0 400,000
OFXLHSAHX HEI(FAL S)KA 400,000 0 400,000
OABLINS BSAIA JHa 170,200 0 170,200
403 XSRS K20l & 170,200 0 170,200
01 KX SRR = 2 & 170,200 0 170,200
OoO=2w=Y3 &XIX& 160,000 0 160,000
O0gE HAR 3= g 2 XA 10,200 0 10,200
J2sEdg =4 6,332,100 6,089,600 242,500
2 1,537,000 1,512,000 25,000
x| 2,510,000 2,510,000 0
< 2,285,100 2,067,600 217,500
CIOtOE M e 975,500 915,500 60,000
403 XSRS T2 01 & 966,500 906,500 60,000
01 KX SRR = 2 & 966,500 906,500 60,000
OU=8 HLFE LetRH 350,000 300,000 50,000
OWZAZHEHN EXIJIME X& 10,000 0 10,000
e 07T XA (2D) 48,100 15,600 32,500
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Sel: JI2E0Y S4 (Bl & @)
SN - SRABH) - MRAY - BES 0] &k o4 p[E-LD HmE=ET

= 37,000 12,000 25.000
= 11,100 3,600 7,500
403 XSRS KH=20/ 48,100 15,600 32,500
2 37,000 12,000 25,000
= 11,100 3,600 7,500
01 XHXISHXH =2 48,100 15,600 32,500
oXe 2B 23X 32,500 0 32,500
2 25,000 0 25,000
= 7,500 0 7,500
20| ZIYMAL N 150,000 0 150,000
403 XX IS XH= 0/ & 150,000 0 150,000
01 XHXISHHIXH= 2 X 150,000 0 150,000
ORYHO SRUAMAIL Y 150,000 0 150,000
SEANE T4 L +42 IIXHD 9,566, 100 9,345,500 220,600
X 7,666,000 7,666,000 0
= 1,900,100 1,679,500 220,600
S42 B .REIPAL U BR2H 778,100 557,500 220,600
201 Lpr2 | 35,000 20,000 15,000
03 B AF2 2 H] 35,000 20,000 15,000
OXAHAZE N3 Hat 35,000 20,000 15,000
307 Q12| & 174,000 135,000 39,000
02 BI2HA A A 174,000 135,000 39,000
0442 ZHAHIZX BAXEY 84,000 45,000 39,000
403 XSRS K20/ & 540,100 373,500 166,600
01 XHXISHXH =2 E 540,100 373,500 166,600
O*42 +EUH 2RHIS K& 63,000 31,500 31,500
OIEI0E AEF)| 2YX S 7,200 0 7,200
O2HOAE SR PUX & 4,800 0 4,800
OFUSATY =2 AL FH| 23,100 0 23,100
O=S58 ZOILHME 01X ASAIY 100,000 0 100,000




